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NEfsz K % ouT I N GROSS HDCP NET

=R N EX 40 38 78 7.2 70.8
pAiva F¥H =EE 40 41 81 9.6 71.4
3fi v 35 39 74 2.4 71.6
Vi¥iva YEH &0 43 37 80 8.4 71.6
5L P VI ES 40 38 78 6.0 72.0
61z ik =& 45 45 90 18.0 72.0
[4iva &l f= 52 44 96 24.0 72.0
8fiL T E# 39 38 77 4.8 72.2
9fiL g ER 40 43 83 10.8 72.2
1013t i FEX 45 44 89 16.8 72.2
111 e N 40 41 81 8.4 72.6
12431 hit ER 39 41 80 7.2 72.8
1343 4H 1EM 38 42 80 7.2 72.8
14431 Bk B 44 42 86 13.2 72.8
1541 =k Bz 45 47 92 19.2 72.8
1611 mHF —x 43 42 85 12.0 73.0
174 IR ER 46 45 91 18.0 73.0
18131 VN 45 39 84 10.8 73.2
19ff B L¥ 42 48 90 16.8 73.2
2013z #H #X 40 37 77 3.6 73.4
214 T ®MF 44 39 83 9.6 73.4
2231 Ea 3B 42 41 83 9.6 73.4
23(i e Eh 37 46 83 9.6 73.4
24431 W &t 43 46 89 15.6 73.4
251 g Y 43 46 89 15.6 73.4
261 tER # 40 42 82 8.4 73.6
2711 ML WTH 44 44 88 14.4 73.6
281 k4K BE 44 44 88 14.4 73.6
29131 Y S 38 37 75 1.2 73.8
301iz zh EiE 40 41 81 7.2 73.8
31 O 22 39 42 81 7.2 73.8
32i ER &ZFEIE 43 44 87 13.2 73.8
33fiL |l ES 44 49 93 19.2 73.8
344 & BEE 35 39 74 0.0 74.0
35(iL RE 2% 41 39 80 6.0 74.0
361iL Atk WF 46 46 92 18.0 74.0
371 me * 44 48 92 18.0 74.0
38(iL BHE E— 40 45 85 10.8 74.2
39fi ik mEE 46 45 91 16.8 74.2
401z A #EE 42 49 91 16.8 74.2
4161 EH F 38 40 78 3.6 74.4
421 HkE BEA— 40 44 84 9.6 74.4
43fif all E 47 55 102 27.6 74.4
4441 it EAI 38 39 77 2.4 74.6
451 TE Bk 42 41 83 8.4 74.6
4611 BB sEak 39 44 83 8.4 74.6
¥ {iva FHR $— 42 47 89 14.4 74.6
4811 1T}z Sy 7 o 49 46 95 20.4 74.6
49131 B HT 41 41 82 7.2 74.8
501 thep X 45 43 88 13.2 74.8
511 it FH=E 42 46 88 13.2 74.8
521i RE & 40 48 88 13.2 74.8
53fiL 1T m 49 45 94 19.2 74.8
Y L ivd X £RE 47 47 94 19.2 74.8




&L K % ouT I N GROSS HDCP NET

554iL =8 BE 47 53 100 25.2 74.8
5613z 2B BER 40 41 81 6.0 75.0
571 g5l BA 44 43 87 12.0 75.0
581iL B 42 45 87 12.0 75.0
59fiL =R FF 46 53 99 24.0 75.0
601z =R KA 41 39 80 4.8 75.2
611 ERIR {EER 40 40 80 4.8 75.2
621z g =R 44 42 86 10.8 75.2
63fiL Xk EMB 40 46 86 10.8 75.2
64431 Hih F=E 46 46 92 16.8 75.2
6513z A &\A 42 43 85 9.6 75.4
6613z iR H2 42 49 91 15.6 75.4
671 =l BT 47 50 97 21.6 75.4
68fiL =iE FiiE 40 38 78 2.4 75.6
6913z HH HBEE 42 42 84 8.4 75.6
7061 =EF ZEM 47 42 89 13.2 75.8
7161 FRH Ei{= 49 46 95 19.2 75.8
72431 O & 49 52 101 25.2 75.8
731 *E B 43 45 88 12.0 76.0
74431 R ERF 52 48 100 24.0 76.0
7513 Al = 51 49 100 24.0 76.0
7613z A 1= 45 42 87 10.8 76.2
7741 ik F— 48 45 93 16.8 76.2
7813t 2B XE 46 47 93 16.8 76.2
7913L BH OB 43 50 93 16.8 76.2
80fiz WE  BSE 48 51 99 22.8 76.2
811 B K 47 52 99 22.8 76.2
8213 IER £ 53 52 105 28.8 76.2
83fif s T=E 45 53 98 21.6 76.4
844iL el N 51 53 104 27.6 76.4
85fif * fx 42 43 85 8.4 76.6
861iL FE M2 40 45 85 8.4 76.6
871 Ak AE 47 44 91 14.4 76.6
88fiL INVE RIS 45 46 91 14.4 76.6
8913t BiE Ria 44 47 91 14.4 76.6
9013z A XL 42 49 91 14.4 76.6
9113 £E ® 43 41 84 7.2 76.8
9213 BAJ Anga 46 44 90 13.2 76.8
93fiL BE  RE 45 45 90 13.2 76.8
94431 T EA 44 46 90 13.2 76.8
95f3L Rk T 43 47 90 13.2 76.8
96131 iR fE— 42 48 90 13.2 76.8
9713t T 2 48 48 96 19.2 76.8
98131 B8 BA 48 41 89 12.0 77.0
9913t INE K 45 44 89 12.0 77.0
1001it ® ETF3hA 42 47 89 12.0 77.0
101z = F 49 46 95 18.0 77.0
1021z £ ZF—EB 47 48 95 18.0 77.0
1033 =F &X 40 42 82 4.8 77.2
10443z plid: 13 45 43 88 10.8 77.2
10543 [ N 41 47 88 10.8 77.2
1061 R {THE 40 48 88 10.8 77.2
1074 THEF RE 47 47 94 16.8 77.2
108{i Bl ZFX 49 51 100 22.8 77.2
1091i IR A 44 43 87 9.6 77.4
11013 R BA 39 48 87 9.6 77.4
11143 BR F 46 47 93 15.6 77.4
1121 kA& EBAX 45 48 93 15.6 77.4
113f3 B3 KEB 46 46 92 14.4 77.6
1144k RiE B 45 47 92 14.4 77.6




&L K % ouT I N GROSS HDCP NET

11545 IMES (B8R 48 50 98 20.4 77.6
11641 WRE &7 41 44 85 7.2 77.8
11743 FE FE 38 47 85 7.2 77.8
11841 A & 40 51 91 13.2 77.8
11943 A A 55 48 103 25.2 77.8
1201z FIER #8i8 51 52 103 25.2 77.8
12143 Fith BuE 49 54 103 25.2 77.8
12243 aik EL 42 42 84 6.0 78.0
1231 55 BF 49 41 90 12.0 78.0
12443 Rk BE 45 45 90 12.0 78.0
12541 ‘B R 50 46 96 18.0 78.0
12611 EZ& f8A 56 52 108 30.0 78.0
12743 g =% 43 46 89 10.8 78.2
12811 R BE 43 46 89 10.8 78.2
12941 W a— 48 47 95 16.8 78.2
13011 KE B 47 48 95 16.8 78.2
13141 A RALE 44 51 95 16.8 78.2
13241 ns = 54 53 107 28.8 78.2
1331 gx hHhig 44 44 88 9.6 78.4
13441 K fIA 43 45 88 9.6 78.4
135{i B ZEH 43 51 94 15.6 78.4
136{i ik REA 43 38 81 2.4 78.6
13741 5% IBE 45 42 87 8.4 78.6
138{i Rk EMH 49 50 99 20.4 78.6
13941 £k B 47 52 99 20.4 78.6
14013 E FA32 55 50 105 26.4 78.6
14143 BEY RE 50 48 98 19.2 78.8
14243 e BIE 50 54 104 25.2 78.8
1431 k4K EEX 47 44 91 12.0 79.0
14443 £k E8F 48 49 97 18.0 79.0
145(i SH L 46 51 97 18.0 79.0
1461 i ®E 47 42 89 9.6 79.4
14743 RAE B3 51 56 107 27.6 79.4
1481 /Nl =M 46 48 94 14.4 79.6
14943 FHE @ 42 52 94 14.4 79.6
15011 SH s 50 50 100 20.4 79.6
1511z Bl =R 49 51 100 20.4 79.6
1521z HE EE 45 42 87 7.2 79.8
1533 iR EhE 46 47 93 13.2 79.8
154431 Fith BEF 51 48 99 19.2 79.8
1553 = X 48 51 99 19.2 79.8
15611 =H W 51 53 104 24.0 80.0
1571 P EBEF 50 47 97 16.8 80.2
15811 B &— 51 52 103 22.8 80.2
15913z piic]=E I 49 60 109 28.8 80.2
1601 xXE EE 43 41 84 3.6 80.4
1614 B XEif 61 52 113 324 80.6
1621z NS 50 44 94 13.2 80.8
1633 £k KE 53 47 100 19.2 80.8
16443 Rl #Hi 47 53 100 19.2 80.8
16511 INER BER 58 60 118 37.2 80.8
16611 fwH T 48 45 93 12.0 81.0
1671 FEH %3k 56 55 111 30.0 81.0
1681 N ER 52 50 102 20.4 81.6
16913 INER AR 62 63 125 43.2 81.8
17011 H ORB 54 51 105 22.8 82.2
17143 FHE R¥F 53 56 109 26.4 82.6
17243 fhix B 51 58 109 26.4 82.6
1731 il BE 59 62 121 38.4 82.6
17443 Rk BA 49 53 102 18.0 84.0
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17541 =i BH 55 52 107 19.2 87.8




